875

LGIBESDHI SLHIL3KLILO 3060 L =13 9.
da 1:100
330 330

LGJbODBJ

OLOLIRIKR(O 406d L =1.063 X 2C6oRRN0.

875

330

1650

— ] —

OM3OB IS d14 A lll - 1.9*65*1.21*1.05 = 1569 3d
OM3odIdo d14 A lll - 13*10*1.21*%1.05 = 165.16 36

6JBMB0L 306J
6JIBHMB0L LSBILIMIBO: 13%(0.33*0.175)*5/2 = 1.88 3Js. 9
6JBMBOL BOKS: 0.04*1.86*13 = 096 336. 3

6JBAMBOL 306KRILO

6IBMBOL LSOID®ZZIRO RS HIINM33INRO 0.7*2=14 395.9
12 53 LOLIOL dIBMBOL 05BHS30 0.525%2 =1.05 33J4. 9
0M3oBIdo d14 A lll - 436%6*1.21 = 31.53 36 X 2 = 63 30
OM3OB IS d14 A lll - 20*1*1.21%2 = 484 36

LIV 5353 I@S d14 A lll - 486 36

da 1:100

330

1650

175

OM3oB IS d14 A lll - 1.9%5*%1.21*%1.05 = 12.07 36 X 2 = 24.14 3d
OM3oB IS d14 A lll - 1.06*10*1.21*1.05 = 1347 36 X 2 = 2693 36

6JdB(M6OL 306J

6IBMB0L LOBILIMIBO: (0.33%0.175)*5*%1.06%2/2 = 033 336. 9
SIBMBOL GOKS: 0.04*1.86*%1.06%2 = 0.16 3I6. 9

LIR $IBHM60 3063J5066030L V = 33 334.0

Q()ﬁud(’)mﬁo @. 205558099 R5383330M0: LIKXML dI6N0CN03SRNOBIBO
>6J0HJom G0 M303dB0: Vd3S bILMIO MISAHEMEOL boos BIOG2o BaOGd0
I VPRNRRPRN PR 650050306 9TI6IBRMIS
‘ 3.3, 3-13 1
gobegms 3. bABGOTZ0R0 LGIBESDHI SLHLIRIKO J4063JI80 L =13 9.
Ry L =1.068 X 2Go%=0
0. 39@0d 3L "Sd@MLIGH3OLO"
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